BEES

2 T—10188H=

BEtES

2 6-33-6010%

TUNTHEIRRLER Ny

10O

6600V CVT #—7 1A

) AEK (FF- A b2V D
@ - FENHT

@ #E R b
@ﬁi B
G REHNN-
® @AYk
@ T77y b (BEHAD
:150mm2 L EIcER
® aB&Emm
OFFLTRREDN:)
@ILa~-9-
0D A~ -4 - fHEHpiR
Q34w nz
@Q74ess-7
D 74eN7-7
@ \ess -7
pp |BANER 28O TE (nmd
tmm®» [A[BICIDIE|IF] G | H | J | K| L |M[|NxP Q |R
7601 B-14|— | = |=|=|=[40|240|400|350| 55 | 60 |60[11x20| M5X16 |16
T602 22 38| —|—i1—1—|—140{240(410| 350y 70 | 80 |70]|11x20| M6X18 |16
T603 B0~100| — | — | = | — | — |40] 240|420 450| 80 | 90 70| #14 |M10X25 |32
T604—1 150 45160150120111(701240|1450|50011101(110 |80} ¢14 | M12X40 |40
T604-2 200 45160|50(20(11170]1240{4501500(1101110|80| 14 |Mi12X40 {40
T605—-1 250 55 60 60 20 11 7O 2401460 | 50011101110 |80) 414 [M12X45 |40
7605-2 | 325 |55|6060]|2 0]240|460]500[120 [120|90] #14 |M12X45 |40
= =] Pas
* ﬁ#JZTAﬁT it

o fup
&

2E

R




